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5+15=20
X -6 =14
X + 4<20
a+b=k



b+9=1/
N
13 - x=6

K +30 =34



K+ 30 =34
K=34-30

4+ 30 =354
34 = 34






16-041=12  10-310=0
f6-0t1=14  15-3+0=10






31 +9 9 +3817



9+8 "8+ 7/






baba Kana ceapusa 11 baHo4ek
3eMAISHUYHO20 BapeHbs U [ baHOYeK
ManuHo8020. 3 baHOYKU Opy3bs
835/1U ¢ cobou 8 dopoay.

CkombKo baHOYeK 8apeHbs
ocmarnocek y 6abek! Kane!?



No
54 - x =50
X =54 - 50
X =4
54 - 4 = 50
950 = 50

Ne 2

90 -45 < 55

3 +3<13

Ne 1
80 -y = 70
y = 80 -70
v =10
30 - 10 =70
70 =70

\o 2

05 - 30 <25
J+9<19






